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1)

3)

5)

7)

9)

Subtracting Visually Name:
Use the visual model to solve each problem. Answers
There are 6 hexagons below. 2) There are 9 squares below.
OXOXOXOXOXW, OOO0O0O00O00 1
If you were to take away 1, how many [
would be |eft? If you were to take away 7, how many 2.
6-1=7? would be |eft?
9-7=7? 3.

4,
There are 2 circles below. 4) There are 3 pentagons below.
OO 0O >.
If you were to take away 1, how many If you were to take away 2, how many
would be |ft? would be |&ft? 6.
2-1=7? 3-2=7?

7.

8.
There are 5 circles below. 6) There are 3 squares below.
O000O0 O . S
If you were to take away 4, how many If you were to take away 1, how many
would be left? would be |eft? 10.
5-4=7 3-1="?
There are 20 hexagons below. 8) There are 6 triangles below.
COOOOOOOO ANANNANANNAA
0000060000 If you were to take away 4, how many
0o would be left?
If you were to take away 16, how many 6-4="7
would be left?
20-16="7
There are 17 rectangles below. 10) Thereare 7 circles below.
1 R T O00000O0
UNUNI If you were to take away 6, how many
If you were to take away 10, how many would be |eft?
would be left? 7-6=7
17-10="7

1-10 {90]80|70|60[50[ 40| 30| 20| 10] O |
[ Math ] www.CommonCoreSheets.com 1
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Subtracting Visually

Name:

Answer Key

1)

3)

5)

7)

9)

Use the visual model to solve each problem. Answers
There are 6 hexagons below. 2) There are 9 squares below.
000000 DDODODEDOOE L o
If you were to take away 1, how many [ 2
would be |eft? If you were to take away 7, how many 2.
6-1=7? would be |eft?
9-7=7 3 1
4 1
There are 2 circles below. 4) There are 3 pentagons below. 1
OO 0O >.
If you were to take away 1, how many If you were to take away 2, how many 2
would be |ft? would be |&ft? 6.
2-1=7 3-2="?
7 4
8. 2
There are 5 circles below. 6) There are 3 squares below. 7
O000O0 O . S
If you were to take away 4, how many If you were to take away 1, how many 1
would be left? would be |eft? 10.
5-4=7 3-1="?
There are 20 hexagons below. 8) There are 6 triangles below.
COOOOOOOO ANANNANANNAA
0O00O000000 If you were to take away 4, how many
0o would be left?
If you were to take away 16, how many 6-4="7
would be left?
20-16="7
There are 17 rectangles below. 10) Thereare 7 circles below.
1 R T O00000O0
poooooag If you were to take away 6, how many
If you were to take away 10, how many would be |eft?
would be left? 7-6=7
17-10="7
1-10 {90]80|70|60[50[ 40| 30| 20| 10] O |
[ Math ] www.CommonCoreSheets.com 1
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Subtracting Visually Name:

Use the visual model to solve each problem. ANnswers

1) Thereare 6 circles below. 2) There are 13 pentagons below.
O00O00O OROACACAOAOAS L
If you were to take away 4, how many 000000
would be |eft? If you were to take away 10, how many 2.
6-4=7 would be left?

13-10="7 3,
4.
3) There are 3 hexagons below. 4) Thereare 7 circles below.
OXOXe; O00000O0 5
If you were to take away 1, how many If you were to take away 1, how many
would be |ft? would be |eft? 6.
3-1=7 7-1=7
7.
8.

5) There are 3 squares below. 6) There are 9 rectangles below.

1O I VT S
If you were to take away 2, how many If you were to take away 6, how many

would be left? would be left? 10.
3-2=7 9-6=7

7) Thereare 12 stars below. 8) There are 18 rectangles below.

WK WKWK WKW 0oo0ooooodoan
¥ 0oooouoaod

If you were to take away 9, how many If you were to take away 3, how many
would be left? would be left?

12-9=2? 18-3=7?

9) Thereare 16 triangles below. 10) There are 15 squares below.
ANANAAAAAANANA OO0000000
ANANAAAAA OO000000
If you were to take away 4, how many If you were to take away 6, how many
would be left? would be left?
16-4=7 15-6=7

1-10 {90]80|70|60[50[ 40| 30| 20| 10] O |

[ Math ] www.CommonCoreSheets.com 2
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Subtracting Visually Name. Answer Key
Use the visual model to solve each problem. Answers
1) Thereare 6 circles below. 2) There are 13 pentagons below.
000000 0000000 L 2
If you were to take away 4, how many 000000 3
would be |eft? If you were to take away 10, how many 2.
6-4=7 would be left?
13-10=" 3, 2
4 6
3) There are 3 hexagons below. 4) Thereare 7 circles below. 1
OXOX®] OO000O00O0O 5
If you were to take away 1, how many If you were to take away 1, how many 3
would be |ft? would be |eft? 6.
3-1=7 7-1=7
7 3
8. 15
5) There are 3 squares below. 6) There are 9 rectangles below. 12
L0 I ¥ O T S
If you were to take away 2, how many If you were to take away 6, how many 9
would be left? would be left? 10.
3-2=7 9-6=7
7) Thereare 12 stars below. 8) There are 18 rectangles below.
WK WKWK WKW 0oo0ooooodoan
PAGRAG 00000000
If you were to take away 9, how many If you were to take away 3, how many
would be left? would be left?
12-9=7? 18-3=7?
9) There are 16 triangles below. 10) There are 15 sguares below.
ANANAAAAAANANA OO0000000
ANANAAAAA OO000000
If you were to take away 4, how many If you were to take away 6, how many
would be left? would be left?
16-4=7 15-6=7
1-10 {90]80|70|60[50[ 40| 30| 20| 10] O |
[ Math ] www.CommonCoreSheets.com 2
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Subtracting Visually Name:

Use the visual model to solve each problem. Answers

1) Thereare 4 triangles below. 2) There are 20 pentagons below.

ANANAA OROACAOAOAGAD) 1
If you were to take away 2, how many 0000000
would be left? 000000 2
4-2=7 If you were to take away 16, how many
would be left? 3.
20-16="7
4.

3) Thereare 15 circles below. 4) There are 2 squares below.
OO00O0OOOOOO 1 5.
00000 If you were to take away 1, how many
If you were to take away 4, how many would be |eft? 6.
would be left? 2-1=7
15-4=7 7.

8.

5) Thereare 19 circles below. 6) There are 3 hexagons below.
O00O0OOOOOO OX0X0, 9.
000000000 If you were to take away 2, how many
If you were to take away 7, how many would be lft? 10.
would be left? 3-2=7
19-7=7?

7) Thereare 14 stars below. 8) There are 11 pentagons below.

ARG Adhk dh i bt b A A G A GG OROAOAGACROAS

AR dh AR e O0O00

If you were to take away 12, how many If you were to take away 1, how many
would be left? would be |eft?

14-12="2 11-1=?

9) There are 17 pentagons below. 10) There are 8 pentagons below.
OROACACAOROACAD) OROACRORORORG)
OROACACAOROACAD) o
O If you were to take away 5, how many
If you were to take away 14, how many would be |eft?
would be left? 8-5=7?
17-14=7

1-10 {90]80|70|60[50[ 40| 30| 20| 10] O |
[ Math ] www.CommonCoreSheets.com 3
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Subtracting Visually Name. Answer Key
Use the visual model to solve each problem. Answers
1) Thereare 4 triangles below. 2) There are 20 pentagons below.
AAAA 0000000 L 2
If you were to take away 2, how many 0000000 4
would be left? 000000 2
4-2=7 If you were to take away 16, how many
would be |eft? 3. 11
20-16="7
4 1
3) Thereare 15 circles below. 4) There are 2 squares below. 12
OO00O0OOOOOO 1 5.
00000 If you were to take away 1, how many 1
If you were to take away 4, how many would be |eft? 6.
would be left? 2-1=7
15-4=7 7 2
8. 10
5) Thereare 19 circles below. 6) There are 3 hexagons below. 3
O00O0OOOOOO OX0X0, 9.
000000000 If you were to take away 2, how many 3
If you were to take away 7, how many would be lft? 10.
would be left? 3-2=7
19-7=7?
7) Thereare 14 stars below. 8) There are 11 pentagons below.
ARG Adhk dh i bt b A A G A GG OROAOAGACROAS
AR dh AR e O0O00
If you were to take away 12, how many If you were to take away 1, how many
would be left? would be |eft?
14-12="2 11-1=?
9) There are 17 pentagons below. 10) There are 8 pentagons below.
OROACACAOROACAD) OROACRORORORG)
OROACACAOROACAD) o
O If you were to take away 5, how many
If you were to take away 14, how many would be |eft?
would be left? 8-5=7?
17-14=7
1-10 {90]80|70|60[50[ 40| 30| 20| 10] O |
[ Math ] www.CommonCoreSheets.com 3
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Subtracting Visually

Name:

1)

3)

5)

7)

9)

Use the visual model to solve each problem. Answers
There are 13 stars below. 2) There are 14 rectangles below.
AR AN A A % I IV R T L
PAGR G A ARk g Booma
If you were to take away 1, how many If you were to take away 13, how many 2.
would be left? would be |eft?
13-1=7 14-13="7 3
4,

There are 5 stars below. 4) There are 10 triangles below.
W WKW AAAAAAAAA >
If you were to take away 2, how many A
would be left? If you were to take away 3, how many 6.
5-2=7 would be left?

10-3=7? 7.

8.

There are 3 stars below. 6) Thereare 17 circles below.
PAGR g e O0000O0O0 S
If you were to take away 2, how many 0000000
would be left? 000 10.
3-2=7 If you were to take away 4, how many

would be left?

17-4=7
There are 5 pentagons below. 8) Thereare 13 circles below.
ORACAOAOAS)] 0000000
If you were to take away 4, how many 00000
would be left? If you were to take away 12, how many
5-4=7 would be left?

13-12="7
There are 11 stars below. 10) There are 12 squares below.
WKWK WK NN O00000O0000O
¥ OO
If you were to take away 4, how many If you were to take away 5, how many
would be left? would be |eft?
11-4="7 12-5=2

1-10 {90]80|70|60[50[ 40| 30| 20| 10] O |
[ Math ] www.CommonCoreSheets.com 4
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1)

3)

5)

7)

9)

Subtracting Visually

Name:

Answer Key

Use the visual model to solve each problem. Answers
There are 13 stars below. 2) There are 14 rectangles below.
Pe e Y o A Fe e K INERREEER L -
PAGR G A ARk g Booma
If you were to take away 1, how many If you were to take away 13, how many 2. 1
would be left? would be left?
13-1="? 14-13="? 3, 3
4 7

There are 5 stars below. 4) There are 10 triangles below.
o fe o A K AAAAAAAAA 5. 1
If you were to take away 2, how many A 13
would be left? If you were to take away 3, how many 6.
5-2=7 would be left?

10-3=7? 7 1

8. 1

There are 3 stars below. 6) Thereare 17 circles below. 7
PAGR g e O0000O0O0 S
If you were to take away 2, how many 0000000 7
would be left? 000 10.
3-2=7 If you were to take away 4, how many

would be left?

17-4=7
There are 5 pentagons below. 8) Thereare 13 circles below.
ORACAOAOAS)] 0000000
If you were to take away 4, how many 00000
would be left? If you were to take away 12, how many
5-4=7 would be left?

13-12="7
There are 11 stars below. 10) There are 12 squares below.
WKWK WK NN O00000O0000O
¥ OO
If you were to take away 4, how many If you were to take away 5, how many
would be left? would be left?
11-4=7 12-5=7

1-10 {90]80|70|60[50[ 40| 30| 20| 10] O |
[ Math ] www.CommonCoreSheets.com 4
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Subtracting Visually

Name:

1)

3)

5)

7)

9)

Use the visual model to solve each problem. Answers

There are 11 rectangles below. 2) There are 12 sguares below.
0oo0o0o00aond 000000000 L
0 0 oo
If you were to take away 2, how many If you were to take away 8, how many 2.
would be left? would be |eft?
11-2=7? 12-8=7? 3,

4,
There are 11 stars below. 4) There are 10 rectangles below.
KW HRRK KWK K 0ooooaoao 5
* W % 00a0
If you were to take away 10, how many If you were to take away 3, how many 6.
would be left? would be |eft?
11-10="7 10-3=7? 7.

8.
There are 15 stars below. 6) Thereare 12 triangles below.
KW HRKK KRR AAANANANANANNAA 9.
W W W W NN A AN
If you were to take away 2, how many If you were to take away 7, how many 10.
would be left? would be |eft?
15-2="7 12-7=7
There are 3 squares below. 8) Thereare 11 squares below.
10O 000000000
If you were to take away 2, how many OO
would be left? If you were to take away 1, how many
3-2=7 would be left?

11-1=7
There are 20 rectangles below. 10) There are 11 rectangles below.
0o0o00a0¢0a0 doooooooaoan
0o0000¢0da I
000000 If you were to take away 9, how many
If you were to take away 9, how many would be |eft?
would be left? 11-9=7
20-9=7
1-10 {90]80|70|60[50[ 40| 30| 20| 10] O |
[ Math ] www.CommonCoreSheets.com 5
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1)

3)

5)

7)

9)

Subtracting Visually Name. Answer Key
Use the visual model to solve each problem. Answers
There are 11 rectangles below. 2) There are 12 sguares below.
000000000 DOo0Ooooood L 9
0 0 oo
If you were to take away 2, how many If you were to take away 8, how many 2. 4
would be left? would be |eft?
11-2=7? 12-8=7? 3 1
4 7
There are 11 stars below. 4) There are 10 rectangles below. 13
KW HRRK KWK K 0ooooaoao 5
* W % 00a0
If you were to take away 10, how many If you were to take away 3, how many 6. o
would be left? would be |eft?
11-10="? 10-3="? 7 1
8. 10
There are 15 stars below. 6) Thereare 12 triangles below. 11
KW HRKK KRR AAANANANANANNAA 9.
W W W W NN A AN 5
If you were to take away 2, how many If you were to take away 7, how many 10.
would be left? would be |eft?
15-2="7 12-7=7
There are 3 squares below. 8) Thereare 11 squares below.
10O 000000000
If you were to take away 2, how many OO
would be left? If you were to take away 1, how many
3-2=7 would be left?
11-1=7
There are 20 rectangles below. 10) There are 11 rectangles below.
0o0o00a0¢0a0 doooooooaoan
0o0000¢0da I
000000 If you were to take away 9, how many
If you were to take away 9, how many would be |eft?
would be left? 11-9=7
20-9="?
1-10 {90]80|70|60[50[ 40| 30| 20| 10] O |
[ Math ] www.CommonCoreSheets.com 5
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1)

3)

5)

7)

9)

Subtracting Visually

Name:

Use the visual model to solve each problem. Answers
There are 13 circles below. 2) There are 9 hexagons below.
Q000000000 OXOXOXOXOXOXE, L
CXOXQ) OXe;

If you were to take away 1, how many If you were to take away 6, how many 2.
would be left? would be |eft?
13-1=7? 9-6=7 3,
4,
There are 13 squares below. 4) There are 14 hexagons below.
0000000000 OXOXOXOXOXOXOXOXW; 5.
O] O (OXOXOXOXE,
If you were to take away 11, how many If you were to take away 7, how many 6.
would be left? would be |eft?
13-11="7 14-7=7 7.
8.
There are 10 rectangles below. 6) Thereare5 rectangles below.
0oo0o0oo0oaonod 0o0o0¢m0a0 S
0 If you were to take away 1, how many
If you were to take away 4, how many would be |ft? 10.
would be left? 5-1=7
10-4=7?
There are 17 pentagons below. 8) There are 15 squares below.
OROAOACROROAORORS, 0000000000
OROAGROROROAOAG] OOdomdd
If you were to take away 2, how many If you were to take away 12, how many
would be left? would be |eft?
17-2=7 15-12="?
There are 12 circles below. 10) There are 5 rectangles below.
OO00O0O0OO0OOO 0o0o0¢m0an
0O If you were to take away 4, how many
If you were to take away 3, how many would be |eft?
would be left? 5-4=7
12-3=7?
1-10 {90]80|70|60[50[ 40| 30| 20| 10] O |
[ Math ] www.CommonCoreSheets.com 6
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1)

3)

5)

7)

9)

Subtracting Visually

Name:

Answer Key

Use the visual model to solve each problem. Answers
There are 13 circles below. 2) There are 9 hexagons below.
0000000000 0000000 L 12
CXOXQ) OXe;

If you were to take away 1, how many If you were to take away 6, how many 2. 3
would be left? would be |eft?
13-1=7 9-6=7? 3 2
4 7
There are 13 squares below. 4) There are 14 hexagons below. 6
0000000000 OXOXOXOXOXOXOXOXW; 5.
O] O (OXOXOXOXE,
If you were to take away 11, how many If you were to take away 7, how many 6. 4
would be left? would be |eft?
13-11=" 14-7="2 7. 15
8. 3
There are 10 rectangles below. 6) Thereare5 rectangles below. 9
0oo0o0oo0oaonod 0o0o0¢m0a0 S
0 If you were to take away 1, how many 1
If you were to take away 4, how many would be |ft? 10.
would be left? 5-1=7
10-4=7?
There are 17 pentagons below. 8) There are 15 squares below.
OROAOACROROAORORS, 0000000000
OAOAOAOACROAGRS OOOOc
If you were to take away 2, how many If you were to take away 12, how many
would be left? would be |eft?
17-2=7 15-12="?
There are 12 circles below. 10) There are 5 rectangles below.
OO00O0O0OO0OOO 0o0o0¢m0an
0O If you were to take away 4, how many
If you were to take away 3, how many would be |eft?
would be left? 5-4=7
12-3=7?
1-10 {90]80|70|60[50[ 40| 30| 20| 10] O |
[ Math ] www.CommonCoreSheets.com 6
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Subtracting Visually Name:
Use the visual model to solve each problem. Answers
1) Thereare 9 triangles below. 2) Thereare 13 circles below.
AANAAAAAANANANA OCO0OO0O0OOOO0O0 1
If you were to take away 8, how many 0000
would be |eft? If you were to take away 7, how many 2.
9-8=7 would be left?
13-7=7 3
4.
3) There are 9 rectangles below. 4) There are 6 stars below.
0oooooao¢0an PAGR A G G GR A gk >.
If you were to take away 5, how many If you were to take away 2, how many
would be |ft? would be |ft? 6.
9-5=7 6-2=7
7.
8.
5) There are 18 rectangles below. 6) Thereare 14 circles below.
0oo0oooooaoan O000O00OO0 S
0oooooad O00000OO0
If you were to take away 9, how many If you were to take away 9, how many 10.
would be left? would be left?
18-9="? 14-9=2
7) There are 2 squares below. 8) There are 14 rectangles below.
10 0o0o0o000a0d
If you were to take away 1, how many 00D0DD00D
would be left? If you were to take away 5, how many
2-1=7 would be left?
14-5=7
9) Thereare 12 circles below. 10) There are 3 sguares below.
O00O0O00OO0O0 HEE
0000 If you were to take away 1, how many
If you were to take away 9, how many would be left?
would be left? 3-1=7
12-9=2?
1-10 {90]80|70|60[50[ 40| 30| 20| 10] O |
[ Math ] www.CommonCoreSheets.com 7
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Subtracting Visually Name. Answer Key
Use the visual model to solve each problem. Answers
1) Thereare 9 triangles below. 2) Thereare 13 circles below.
AAAAAAAAA 000000000 L 1
If you were to take away 8, how many 0000 6
would be |eft? If you were to take away 7, how many 2.
9-8=7 would be left?
13-7=7 3. 4
4 4
3) There are 9 rectangles below. 4) There are 6 stars below. 9
00o00000¢0°d¢ PAGR A G G GR A gk >.
If you were to take away 5, how many If you were to take away 2, how many 5
would be |ft? would be |ft? 6.
9-5=7 6-2=7
7 1
8. 9
5) There are 18 rectangles below. 6) Thereare 14 circles below. 3
0oo0oooooaoan O000O00OO0 S
0oooooad O00000OO0 5
If you were to take away 9, how many If you were to take away 9, how many 10.
would be left? would be left?
18-9="? 14-9=2
7) There are 2 squares below. 8) There are 14 rectangles below.
10 0o0o0o000a0d
If you were to take away 1, how many 00D0DD00D
would be left? If you were to take away 5, how many
2-1=7 would be left?
14-5=7
9) Thereare 12 circles below. 10) There are 3 sguares below.
O00O0O00OO0O0 HEE
0000 If you were to take away 1, how many
If you were to take away 9, how many would be left?
would be left? 3-1=7
12-9=2?
1-10 {90]80|70|60[50[ 40| 30| 20| 10] O |
[ Math ] www.CommonCoreSheets.com 7
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Subtracting Visually

Name:

1)

3)

5)

7)

9)

Use the visual model to solve each problem. Answers

There are 15 stars below. 2) There are 8 triangles below.
PAGR A AR AR A G A gDk g% ¢ AAAAANANANNANN 1
XK If you were to take away 4, how many
If you were to take away 8, how many would be left? 2
would be left? 8-4=7
15-8=7? 3.

4,
There are 6 squares below. 4) There are 5 rectangles below.
OO00000 000¢00« 0 5
If you were to take away 2, how many If you were to take away 1, how many
would be |ft? would be |eft? 6.
6-2=7 5-1=7?

7.

8.
There are 20 pentagons below. 6) There are 8 stars below.
OROAOAOAOROAS, W W W W W R W S
0000000 If you were to take away 6, how many
teteee would be left? 10
If you were to take away 4, how many 8-6=7
would be left?
20-4=7
There are 10 sgquares below. 8) Thereare 19 stars below.
OO0O0OO0000 W W I WW
OO0 WKWK KWW W
If you were to take away 8, how many W ON
would be left? If you were to take away 10, how many
10-8=7? would be left?

19-10="7
There are 16 rectangles below. 10) There are 6 squares below.
0o00000a0dtd OO00000
pooooood If you were to take away 1, how many
If you were to take away 5, how many would be |eft?
would be left? 6-1="7
16-5=7?
1-10 {90]80|70|60[50[ 40| 30| 20| 10] O |
[ Math ] www.CommonCoreSheets.com 8
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1)

3)

5)

7)

9)

Subtracting Visually Name. Answer Key
Use the visual model to solve each problem. Answers
There are 15 stars below. 2) There are 8 triangles below.
T A B AAAAAAAA L 7
XK If you were to take away 4, how many 4
If you were to take away 8, how many would be left? 2
would be left? 8-4=7
15-8="7 3 4
4 4
There are 6 squares below. 4) There are 5 rectangles below. 16
OO00000 000¢00« 0 5
If you were to take away 2, how many If you were to take away 1, how many 2
would be |ft? would be |eft? 6.
6-2=7 5-1="?
7 2
8. 9
There are 20 pentagons below. 6) There are 8 stars below. 11
OROAOAOAOROAS, W W W W W R W S
0000000 If you were to take away 6, how many 5
teteee would be left? 10
If you were to take away 4, how many 8-6=7
would be left?
20-4=7
There are 10 sgquares below. 8) Thereare 19 stars below.
OO0O0OO0000 W W I WW
OO0 WKWK KWW W
If you were to take away 8, how many W ON
would be left? If you were to take away 10, how many
10-8=7? would be left?
19-10="7
There are 16 rectangles below. 10) There are 6 squares below.
0o00000a0dtd OO00000
pooooood If you were to take away 1, how many
If you were to take away 5, how many would be |eft?
would be left? 6-1="7
16-5=7?
1-10 {90]80|70|60[50[ 40| 30| 20| 10] O |
[ Math ] www.CommonCoreSheets.com 8
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1)

3)

5)

7)

9)

Subtracting Visually

Name:

Use the visual model to solve each problem. Answers
There are 13 triangles below. 2) There are 15 triangles below.
ANANAAAAAANANAA ANAAAAAANANAA 1
AAA ANAAAA
If you were to take away 1, how many If you were to take away 5, how many 2.
would be left? would be left?
13-1=7 15-5="7 3

4,
There are 11 stars below. 4) There are 13 squares below.
R WKWK WR FEOEEEEEEA 5
PAGR A Eb A g [ EEEE
If you were to take away 4, how many If you were to take away 4, how many 6.
would be left? would be left?
11-4=7 13-4=7 7.
8.

There are 6 stars below. 6) There are 18 stars below.
R W W WKW W W W W WX S
If you were to take away 1, how many W W W WK
would be left? TR 10.
6-1="7 If you were to take away 10, how many

would be left?

18-10="7
There are 10 squares below. 8) Thereare 9 circles below.
OO00000000 O00O000OO0
[] OO
If you were to take away 2, how many If you were to take away 3, how many
would be left? would be left?
10-2=7? 9-3=7
There are 5 stars below. 10) There are 15 hexagons below.
W WKW QOOOOOOOOO
If you were to take away 1, how many SASASACAS/
would be left? If you were to take away 1, how many
5-1=7 would be left?

15-1=7
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1)

3)

5)

7)

9)

Subtracting Visually

Name:

Answer Key

Use the visual model to solve each problem. Answers
There are 13 triangles below. 2) There are 15 triangles below.
AAAAAAAAAA AAAAAAAAAA L 12
AAA ANAAAA
If you were to take away 1, how many If you were to take away 5, how many 2. 10
would be left? would be left?
13-1="? 15-5="2? 3 4

4 9
There are 11 stars below. 4) There are 13 squares below. 5
WHHRWRR HEEEEEEE 5
PAGR A Eb A g = EE
If you were to take away 4, how many If you were to take away 4, how many 6 8
would be left? would be left?
11-4=7 13-4="7 7 8
8 6

There are 6 stars below. 6) There are 18 stars below. A
R W W WKW W W W W WX 9
If you were to take away 1, how many W W W WK 14
would be left? TR 10.
6-1="7 If you were to take away 10, how many

would be left?

18-10="7
There are 10 squares below. 8) Thereare 9 circles below.
000000000 OO0000O0OO0
[] OO
If you were to take away 2, how many If you were to take away 3, how many
would be left? would be left?
10-2=7? 9-3=7
There are 5 stars below. 10) There are 15 hexagons below.
W WKW QOOOOOOOOO
If you were to take away 1, how many SASASACAS/
would be left? If you were to take away 1, how many
5-1=7 would be left?

15-1=7

1-10 {90]80|70|60[50[ 40| 30| 20| 10] O |
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Use the visual model to solve each problem. Answers
1) Thereare 12 sguares below. 2) There are 20 hexagons below.
O EEEEE OXOXOXOXOXOXE, 1
O O £ COOOOOO
If you were to take away 4, how many SASASASACAS: 2.
would be left? If you were to take away 12, how many
12-4="7 would be left? 3.
20-12="?
4.
3) There are 16 squares below. 4) There are 17 hexagons below.
AENEEEEE CQOOOOOOOOO >
HEEEEDEE OXOXOXOXOXOXE,
EE If you were to take away 5, how many 6.
If you were to take away 11, how many would be left?
would be left? 17-5=7? 7.
16-11="7
8.
5) Thereare 4 stars below. 6) There are 6 rectangles below.
PAGRAgR gk g 00000¢00«0 S
If you were to take away 2, how many If you were to take away 4, how many
would be left? would be left? 10.
4-2=7 6-4=7
7) There are 17 rectangles below. 8) There are 11 pentagons below.
0oo0o0o00aonod Q00O 0AQ0
00000000 Q0O
If you were to take away 10, how many If you were to take away 6, how many
would be left? would be left?
17-10="7 11-6=7
9) There are 18 pentagons below. 10) Thereare 9 triangles below.
OROACRCAOAOAS AAAAAAANANA
0000000 If you were to take away 7, how many
0000 would be left?
If you were to take away 7, how many 9-7="7
would be left?
18-7=7?
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Use the visual model to solve each problem.

1)

3)

5)

7)

9)

Subtracting Visually

Name:

Answer Key

There are 12 squares below.
OO0DOO0OOOEE
O E

If you were to take away 4, how many
would be left?
12-4=7?

There are 16 squares below.
HEEEEEE
HEEEEEE

E =

If you were to take away 11, how many
would be left?
16-11="7

There are 4 stars bel ow.
il kg A A g

If you were to take away 2, how many
would be left?
4-2=7

There are 17 rectangles below.

0o0o0oooo0d
ooooooaoan

If you were to take away 10, how many
would be left?
17-10="7

There are 18 pentagons below.
OROAOAOAGROAS,
OROAOAOAGROAS,
O000

If you were to take away 7, how many
would be left?
18-7=7?

2)

4)

6)

8)

10)

There are 20 hexagons below.
OCOOOOOO
COOOOOO
OCOOOOO

If you were to take away 12, how many
would be left?
20-12="7

There are 17 hexagons below.
CQOOOOOOOOO
COOOOOO

If you were to take away 5, how many
would be left?
17-5=7?

There are 6 rectangles below.

oooon0ao

If you were to take away 4, how many
would be left?
6-4="?

There are 11 pentagons below.
OROAOROACROAGRS
Q00

If you were to take away 6, how many
would be left?
11-6=7?

There are 9 triangles below.
AAAAAAANANA

If you were to take away 7, how many
would be left?
9-7=7?

Answers

8

8

12

11

10.
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